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General Instructions :

30/1

@)
(ii)

(1it)

(iv)

(v)

All questions are compulsory.

The question paper consists of 34 questions divided into four
sections — A, B, C and D.

Section A contains 10 questions of 1 mark each, which are
multiple choice type questions, Section B contains 8 questions of
2 marks each, Section C contains 10 questions of 3 marks each
and Section D contains 6 questions of 4 marks each.

There is no overall choice in the paper. However, internal choice is
provided in one question of 2 marks, three questions of 3 marks
and two questions of 4 marks.

Use of calculators is not permitted.
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SECTION A

Y97 G&F 1 10 7% J9F J97 1 3% FE | 597 gewr 1 @ 10 ¥ §9F 59T F
fore 9R Feew BT T & R @ 399 @ w8 & | wE ey geT |
Question numbers 1 to 10 carry 1 mark each. For each of the questions
number 1 to 10, four alternative choices have been provided, of which only
one is correct. Select the correct choice.

WWZX2—X—6=O%@%

(A)
(B)
©
(D)

— S aK
2, —3/2
~92,-8/2
2, 3/2




The roots of the quadratic equation 25> —x — 6 =0 are

A) -2 372
(B) 2,-3/2
E 2 -3
D) 2,32

9. ft U% GHiR A & naf W (20 + 1) &, T I 9 9 & B A6 &

(A) 6n+ 3

(B) 15

C) 12

(D) 21

If the n™ term of an A.P. is (2n + 1), then the sum of its first three
terms is

(A) 6n+3

B) - -1b

C) 12

(D) 21

3. WIFFFX Y 1399 gl W fod & fag Q ¥ 39 W @it ® =yl W PQ
H TS 12 9§ | g9 A e (@A) 2

(A) 25
(B) <313
G} 5.
@ 1

From a point Q, 13 cm away from the centre of a circle, the length
of tangent PQ to the circle is 12 em. The radius of the circle (in cm)
is

(A) 25
(B) /313
19 F

(D)
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4. 33 1%, AP, AQ @9 BC 39 & @yl @i¢ ¥ | 4k AB = 5 ¥, AC = 6 ¥
a9 BC = 4 ¥ 2, @ AP & o (I #) B

(A)

B) .16
(C) 10
. 9

In Figure 1, AP, AQ and BC are tangents to the circle. If AB = 5 cm,
AC = 6 cm and BC = 4 cm, then the length of AP (in cm) is

Figure 1
A 75
(B) 15
(C) 10

A% DI
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@A) %
(B) %
(©) 7—87 -
(D) %

The circumference of a circle is 22 cm. The area of its quadrant (in cm?)

1S

@ I
(B) %
(C) 7;
32 g %

E I T gOF TF W IR IR & e § g 96, VF F R F
R T& ad g & TF A FRT W2 | 3 IHER TG S VF & FaH 7 R

Yig & A § IE B

(Al
(B) 1:4
(C) 1:86
() 1:8

A solid right circular cone is cut into two parts at the middle of its
height by a plane parallel to its base. The ratio of the volume of the
~ smaller cone to the whole cone is

(A 1:2
B) 1:4
) - 1:6
iy 1:8
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TH G W § 30 M. A TR W 60 . N S A wEEw ¥ 53 @ R )W

B) 30°
(C) 60°
L) 90°

A kite is flying at a height of 30 m from the ground. The length of string
from the kite to the ground is 60 m. Assuming that there is no slack in the

string, the angle of elevation of the kite at the ground is

(A) 45°
(B) 30°
(C) 60°
(D) 90°

fog (- 3, 4) # x-3T ¥ g &

(A) 3
(B) -3
() .4
(D) 5

The distance of the point (— 3, 4) from the x-axis is

@ 3
B) -3
© 4
@ 5



9. Igfa 2 ¥, fag PG5, —3) a0 Q3, y), 53 A(7, —2) a1 B(1, - 5) # faam
gl {WEETE & WHEING SXd & | @ y aUeR @

¥ P Q B
L . 2 & L
SIFHIT 2
(A) 2
(B) 4
C -4
o) =2
2

In Figure 2, P(5, —3) and Q(3, y) are the points of trisection of the
line segment joining A(7, —2) and B(1, —5). Then y equals

. = LS
Figure 2
(A) 2
(B) 4
Cc) -4
® -2

10. méﬁﬁm%mmz,&m...,nﬁ@ﬁaﬁw%le‘ﬁﬁﬁm@m‘
fore T 2 | fTEe T HE W TH TS G &M S Wigedr @

@
®
(©) %
(D) g
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11.

12.

13.
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Cards bearing numbers 2, 3, 4, ..., 11 are kept in a bag. A card is
drawn at random from the bag. The probability of getting a card with
a prime number is

4
A =
(A) 2
2
B s
(B) 5
3
C =2
(C) 10
D =
(D) 5
Wos o
SECTION B

¥97 GE 11 § 18 TF FAF ¥ & 2 3% & |

Question numbers 11 to 18 carry 2 marks each. _

p H T HH Fa Hfe 58 g FF0T px(x - 2)+6=0 & T 999 & |
Find the value of p for which the roots of the equation

px(x—-2)+ 6 =0, are equal.

& 3l Tl e SEd 3 ¥ faweg § 2

How many two-digit numbers are divisible by 3 ?

g 3 H, T TR e ABC, r 51 9t g9 & uftrd @1 @ | 9 AB T
BC &I <@=al %A%t 8 Ut @91 6 T €, o r 1 HH A HiSC |

A




In Figure 3, a right triangle ABC, circumscribes a circle of radius r.

If AB and BC are of lengths 8 em and 6 c¢cm respectively, find the
value of r.

A

Figure 3

14. fog i 5 f5dt 99 & & =9 & 0 ® o1 % ol W, g9ia @ § |

Prove that the tangents drawn at the ends of a diameter of a circle
are parallel.

15. 3T%fd 4 #, ABCD, 4 S 9o aTell UH 71 ¢ | a7 & S v W 1 99 =
F 99 W Fa @1 T, 99 2 T A w1 s g9 ff @ T ? | St
AT H AIEA Fd HNC | (n = 3-14 Q)

e
\nzal

STl 4

AGdr

FTS & AR R H & e ABCD, 95 AB = 40 9497 a9r AD = 28 9
2, % @ BC 91 9 qFex Us 3ded 91 S forn S @ | 99 §= S &6

WWWI(R=¥W)
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16.

17.

18.

30/1

In Figure 4, ABCD is a square of side 4 cm. A quadrant of a circle of
radius 1 cm is drawn at each vertex of the square and a circle of diameter
2 cm is also drawn. Find the area of the shaded region. (Use n = 3-14)

SR
774l

Figure 4

OR

From a rectangular sheet of paper ABCD with AB =40 cm and
AD = 28 c¢m, a semi-circular portion with BC as diameter is cut off. Find

i3 22
the area of the remaining paper. (Use ©n = 7)

10-5 ¥t oo & W& I Mo @ fuer & B’ I ug 9w M, A ads
F s 3-5 9 A HAE 3 FW B | TH YER I VPl R e I« He |

(ﬂz%ﬁ}m)

A solid sphére of radius 10-5 em is melted and recast into smaller solid
cones, each of radius 3-5 cm and height 3 ¢cm. Find the number of cones

so formed. (Use ©n = %)

g fig P2, 4), fogelt AG, k) @ Bk, 7) § 999 g W 8, @ k & 79 ¥
FIfST |

Find the value of k, if the point P(2, 4) is equidistant from the points
A(5, k) and B(k, 7). '

52 Tl &l I YR W T E AN A TE TH H ¥ =AU T e
T | WifEshaT Fd HwfSC e T e

() I O H AR ¢

(i) TS T A AW 2 |

A card is drawn at random from a well-shuffled pack of 52 cards. Find the
probability of getting

(i) a red king.

(ii) a queen or a jack.

10
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SECTION C

Y97 GBI 19 T 28 7% IUF T9T F 3 3F & |
Question numbers 19 to 28 carry 3 marks each.

19. Frfifan feam w0 3 x ¥ f g AT -
x? —dax - b* + 4a° = 0
Agar
aft q WFE Tes W ATH 8 G RS 15 8, A WO 3§ HC |
Solve the following quadratic equation for x :
x* — 4ax — b + 4a% = 0
OR

If the sum of two natural numbers is 8 and their product is 15, find
the numbers.

20. 500 3R 900 & o= fgm 7 & ot ST F ATHA FA HITC |
Find the sum of all multiples of 7 lying between 500 and 900.

21. 7% s ABC F9RT 5@ o1 BC =7 &, £ B =457 £C = 60° 28 | f
T 7 S @ @A R SEs e A ABC & ETa Sl & gﬂﬂ”f‘a‘fl

Draw a triangle ABC with BC = 7 cm, £ B = 45° and £C = 60°.

Then construct another triangle, whose sides are g times the

corresponding sides of A ABC.

22, 3gfq 5 #, A PQR, 9 PQ = 10 9, QR = 8 ¥ @1 PR = 12 ¥ 8, &
Sfld UF g9 @ T 2 | QM, RN 99 PL & waEal 9@ FHe |
P
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In Figure 5, a circle is inscribed in a triangle PQR with PQ = 10 cm,
QR = 8 ecm and PR = 12 em. Find the lengths QM, RN and PL.

B

Figure 5

23. 313 6%, O 90 &1 ¥ § fF&H AC = 24 ¥f, AB = 7 ¥t 741 £ BOD = 90°
2 | DEifed &9 &1 &% Wd ST | (1 = 3-14 9]
A

STFT 6

a@ﬁr?ﬁ,qﬁABCD@Eﬁ%,ﬁEHﬁﬁGHM@ﬁT?HﬂTAPDSﬂTBPCa
mﬁq;r%‘,a}mmaiwaa’wwaﬁm|
B

Sgia 7

30/1 12




In Figure 6, O is the centre of the circle with AC = 24 ¢cm, AB=7cm
and £ BOD = 90°. Find the area of the shaded region.
[Use © = 3-14]

Figure 6

OR

In Figure 7, find the area of the shaded region, if ABCD is a square
of side 14 em and APD and BPC are semicircles.

A : B

Figure 7

24, Qﬁlﬂaidﬁcﬁ B arell & MR Sd9, T @ 90 2 | 39 U & 6 At
Hafis a1 a1 UF daAGR adq § STl T4 | SoEeR gqq H 9E & Hen 9
FHifera | . _

A hemispherical bowl of internal radius 9 cm is full of water. Its
contents are emptied in a cylindrical vessel of internal radius 6 cm.
Find the height of water in the cylindrical vessel.

30/1 13 P.T.O.



25.

26.

27.

28.

30/1

603 H. I U TIH H A ¥ TH JAR % EC q9 U€ & AT S0
FEE 45° 3K 60° § | HAR & I9E ¥ ST |

The angles of depression of the top and bottom of a tower as seen

from the top of a 60+/3 m high cliff are 45° and 60° respectively.
Find the height of the tower.

fiagait A(-2, - 2) aa1 B(2, - 4) %I fiaH ad @ravs W & U9 fog P & fdvis
wﬁaﬁm,ﬁAngABé‘rl

HIAT

3W 9gds ABCD # &9%a ¥ #iwg f&s W A(-3,-1), B(-2,-4),
C4,-1) TN DB, 4) T |

Find the coordinates of a point P, which lies on the line segment

joining the points A(-2, —2) and B(2, —4) such that AP = g— ‘AB.

OR

Find the area of the quadrilateral ABCD whose vertices are
A(-3, - 1), B(-2, —4), C(4, — 1) and D(3, 4).

g &g Ax, y), B(3, 6) T4 C(— 3, 4) Wl &, @ <1z« & x — 3y + 15 = 0.

If the points A(x, y), B(3, 6) and C(-3, 4) are collinear, show that
x—-3y+ 15 =0.

52 Wl & a1y # Uh g 9 @it 9y, 9 a9 39 e K T | 9y &9
T @ Tl YER Ted % UYEN 349 ¥ UF U1 fAeren T | WA 9 Fiee 6
e T T

(i) UF & O & @l aen = 2 |
(i) U el 7 % G 8 |

All kings, queens and aces are removed from a pack of 52 cards. The
remaining cards are well shuffled and then a card is drawn from it.
Find the probability that the drawn card is

(i) a black face card.

(ii) a red card. _

14
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SECTION D

VT GEAT29 T 34 T% J9F FoA 5 4 3% & |

Question numbers 29 to 34 carry 4 marks each.

29, T RE F M ITEF R A 3FH LI I B F W H 19T e g, @) B &

méwawélﬁamaﬁml

HIE

2800 foft =i 7o oo &, W9 WEH ¥ FEO gAR SR S Ma 6 W & R |
UH 3itad Tfa 100 et Wia el 9 w9 W 3 & 999 30 e sg S

2 | TOE I H A §HA TG HT |
The numerator of a fraction is 3 less than its denominator. If 1 is

added to the denominator, the fraction is decreased by 11—5 Find the

fraction.
OR
In a flight of 2800 km, an aircraft was slowed down due to bad

weather. Its average speed is reduced by 100 km/h and time
increased by 30 minutes. Find the original duration of the flight.

80. 3IY THTR &< & GH 3T FE HISC [FHH 999 T 5§ 99T 39k YUY IR TS &
AT, I IR T F AT F A g

Find the common difference of an A.P. whose first term is 5 and the
sum of its first four terms is half the sum of the next four terms.

31. &g ANT & 30 & el o fog @ 99 W @i T vt Tared @ dega woe
Bt 8 I
Prove that the length of tangents drawn from an external point to a
circle are equal.

30/1 15 P.1.0.




32.

33.

34,

30/1

waﬁw%&ﬁ@m%mqﬁr@mm?mmmaﬁ
& ¥ @l forar S @1 2 | T HINE o 3W 3% @ SH @il & § b Wy
T, AT TF F MER F AW 3 A € |

srgan
a9 9l U e 14 99 3EE 99 UF 9% & B9 & MHR & @ | 39%
3 R ol & =g 4 T IR 2 O § 1 e |
[n= 2 if)

7
A hemispherical tank, full of water, is emptied by a pipe at the rate

of %g litres per sec. How much time will it take to empty half the

tank if the diameter of the base of the tank is 3 m ?
OR

A drinking glass is in the shape of the frustum of a cone of height
14 c¢cm. The diameters of its two circular ends are 4 cm and 2 cm.

Find the capacity of the glass. [Use n = 27—2]

@ = (fafaed) 3T & 3o SO) 825 W € | W AR & M W I
IR @ s YR @ = 30 W qw IO 5.5 W 2 | I W I IER &
M H T T gUE WG FARGT § | §9 2 F A F o 1.5 7. dEE F
FEE F AR §a I |

A military tent of height 825 m is in the form of a right circular
cylinder of base diameter 30 m and height 5-5 m surmounted by a
right circular cone of same base radius. Find the length of the canvas
use in making the tent, if the breadth of the canvas is 1-5 m.

T 60 WM. I W % R § UF oigERy & R 99 g & IHE ad
I FHUT FAIE 30° TAT 60° & | A FHC

()  IES-BRE a9 o & HeRdl ¥ =K |

(i) TIEE-TRY AM 999 F &9 & g |

The angles of elevation and depression of the top and bottom of a

light-house from the top of a 60 m high building are 30° and 60°

respectively. Find

@) the difference between the heights of the light-house and the
building.

(ii)  the distance between the light-house and the building.
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